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JIE iz B E A ouT IN GROSS | HDCP NET
6L T % 39 37 76 9.0 67.0
M| BR =2 38 38 76 9.0 67.0
3| HLE  KEB 36 39 75 8.0 67.0
M | dhft ik 37 35 12 4.0 68.0
S5 BH EZER 39 40 19 11.0 68.0
66 ¥ Hx 38 42 80 12.0 68.0
JRAE " 7 44 38 82 13.0 69.0
8L ;A —X 42 38 80 11.0 69.0
O FBEH AX 40 41 81 12.0 69.0

106 f&% IEx 37 42 19 10.0 69.0
Miz|Es &S 37 43 80 11.0 69.0
1262|5R  RBIE 43 39 82 11.0 71.0
[RIAVAN =3 41 42 83 12.0 71.0
144 |ZAM 1EBA 38 43 81 10.0 71.0
1567 | KA1 B 40 38 18 6.0 72.0
164 A X5 42 43 85 13.0 72.0
1761 |Bl X 41 42 83 11.0 72.0
186G BB HFB 41 45 86 14.0 12.0
1962 | Fh4t FE 38 44 82 10.0 12.0
20451 | = W = 43 44 87 14.0 73.0
214 | BRIR B 41 45 86 13.0 73.0
2241 | %6H BX 41 45 86 13.0 73.0
23(r BEIR  RE— 41 46 87 14.0 73.0
2440 K8 20 35 41 76 3.0 73.0
254z BRA  SEfE 37 44 81 8.0 73.0
2661 |55H HZ 46 40 86 12.0 74.0
216 BEE R— 41 43 84 10.0 74.0
2860 EE RX 40 44 84 10.0 74.0
296 UK EZ 40 44 84/ 10.0/ 74.0
306z | BIFF [ES 40 47 87 1.0 74.0
3L | H L IEE 47 42 89| 14.0f 75.0
3261 ¥ E BB M 44 85/ 10.0/ 75.0
KEIOAVIAVITI = 1: 38 45 83 8.0/ 75.0
AGL TR KRz 44 45 89| 13.0/ 76.0
bz I & 39 43 82 6.0 76.0
366I|FTH  EEA M 49 90| 14.0/ 76.0
P-1 7A/INLT7a—2




£105[ =7 Afl&

202018218 (K)

mE: AVSR ~14

JIE iz B E A ouT IN GROSS | HDCP NET
ML &H & 44 41 85 8.0 71.0
8L tEE B 43 44 87 10.0 71.0
9L BIRE F= 43 46 89 12.0 11.0
404 | K8 BEj 43 42 85 7.0 78.0
A a0 2= 45 46 91 13.0 78.0
4201 | hE =B 44 47 91 13.0 78.0
RIAP =]~ 50 42 92 13.0 79.0
U BFE B— 48 43 91 12.0 79.0
456 L/ B 45 45 90 11.0 79.0
4641 B 2F 44 48 92 13.0 79.0
4161 kAR EE 40 53 93 14.0 79.0
| g EZ 43 51 94 14.0 80.0
4947 AR FE 43 51 94 14.0 80.0
504 tHERH #EIL) 43 50 93 11.0 82.0
514 | hs 24 46 50 96 12.0 84.0
52{ B H= 51 50 101 13.0 88.0
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